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ﬁ;ﬂg TREOBBOEILADKES TREDHBEILADKRES TREOBHBOEILADKRES TREDHBERILNDKRES
&= N =x | PR bR hoXES X 4 TIwALDKE | mE ADKES B 4 B2 | tmhooksE ADKES X 4 b ontks | & ADKES
(m) (m) (kN/m) EE B (m) (m) (kN/m) (m) (m) (kN/m) (m) (m) (kN/m)
; 100kN/mM#%#8Z % - -~ -[3mEEZ D ~ - -| 100kN/M%# %% - ~ -|3mEEZ D -~ -
ZznLst 1001000 ~ 749 95.73 | =hds | 000 ~ 000|171 915 ZznLst 1.00 | 5.00 ~ 990 95.73 | =S | 5,00 ~ 990 1.71 915
2 100kN/mM#%#BZ % ~ -[3mEEZ D ~ -| 100kN/M%# %% - -~ -|3mEEZ D -~
ZznLst 1001000 ~ 6.73 84.98 | =hs | 000 ~ 000|171 913 ZznLst 1.00 | 5.00 ~ 820 84.98 | =S | 5,00 ~ 820 1.71 913
3 100kN/mM#%#8Z % ~ -[3mEEZ D ~ -| 100kN/M%# %% - -~ -|3mEEZ D -~
ZznLs 1.00 | 0.00 ~ 499 6223 | TN 000 ~ 499|175 9.35 ZznLst 1.00 | 5.00 ~ 530 6223 | NN | 6,00 ~ 530 1.75 9.35
4 100kN/mM#%#BZ % ~ -[3mEEZ D ~ -| 100kN/M%# %% - -~ -|3mEEZ D -~
ZznLst 1.00 1000 ~ 526 65.60 | TN | 000 ~ 0.00| 164 8.78 ZznLst 1.00 | 5.00 ~ 580 65.60 | ThS | 5,00 ~ 580 | 1.64 8.78
5 100kN/mM#%#8Z % ~ -[3mEEZD ~ -| 100kN/M%# %% - -~ -|3mEEZ D -~
ZznLst 1.00 | 0.00 ~ 548 68.38 | TS 000 ~ 548|175 9.36 ZznLst 1.00 | 5.00 ~ 6.00 68.38 | TnSN | 5,00 ~ 6.00)1.75 9.36
¢ 100kN/mM#%#8Z % ~ -[3mEEZ D ~ -| 100kN/M%# %% - -~ -|3mEEZ D -~
ZznLs 1001000 ~ 492 61.30 | TN | 000 ~ 492| 1.83 9.77 ZznLst 1.00 | 5.00 ~ 530 61.30 | ThSN | 6.00 ~ 5.30 | 1.83 977
100kN/mM#%#8Z % ~ ImERBZD ~ 100kN/ Mm% %5 ~ ImEBZS ~
ZThst ~ Zhilst ~ Zhsh ~ ZhLst ~
100kN/M#%#BZ % ~ ImERBZD ~ 100kN/ Mm%z 5 ~ ImEBZS ~
ZThst ~ Zhst ~ Zhst ~ ZhLlst ~
100kN/mM#%#8Z % ~ ImERBZD ~ 100kN/ Mm%z 5 ~ ImEBZS ~
ZThst ~ Zhst ~ Zhsh ~ Zhlst ~
100kN/mM#%#BZ % ~ ImERBZD ~ 100kN/ Mm%z 5 ~ ImEBZS ~
ZThst ~ Zhlst ~ Zhsh ~ ZhLlst ~
100kN/m#%#8Z % ~ ImERBZD ~ 100kN/ Mm%z 5 ~ ImEBZS ~
ZThst ~ Zhlst ~ Zhst ~ Zhlst ~
100kN/M#%#BZ % ~ ImERBZD ~ 100kN/m%Z#8Z 5 ~ ImEBZS ~
ZThst ~ Zhlst ~ Zhst ~ Zhlst ~
100kN/mM#%#8Z % ~ ImERBZD ~ 100kN/m%Z#8Z 5 ~ ImEBZS ~
ZThst ~ ZhLlst ~ Zhsh ~ ZhLst ~
100kN/m#%#BZ % ~ ImERBZD ~ 100kN/ Mm% %5 ~ ImEBZS ~
ZThst ~ Zhlst ~ Zhsh ~ Zhlst ~
100kN/mM#%#BZ % ~ ImERBZD ~ 100kN/ Mm%z 5 ~ ImEBZS ~
Zhst ~ Zh st ~ Zhst ~ Zh st ~




